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e "Where the scriptures speak, we speak; where the scriptures are silent; we are silent” (Thomas
Campbell). M2 E0I7}XH= 258 B0 Y= HH.

e "No creed but Christ" => “We are not the only Christians, but we are Christians only.”

e "In essentials unity, in non-essentials liberty, in all things charity” (Peter Meiderlin—German
Luthern theologian). 2&: £210| M /7|2 /essentials ©17}+?

e "We are Disciples of Christ, a movement for wholeness in a fragmented world. As part of the
one body of Christ, we welcome all to the Lord's Table as God has welcomed us.” (Disciples’
statement of identity)
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e Christians are those who follow the Christ. (& 11:26; 26:28)

e Who is the Christ?
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e Q: Any Christ? => Jesus Christ (0| A2|AE). 0l== O|E(name), 2| A E £ Al M (office).
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